S N PN
2014 FBUE L H AT RAEN FE RIAR
AR H: 835 AR

. IEERVAEEEEE L, BEREREREK LT

1. (15 %) M5 551D, =

O O O N g
O O N 01 W
O N 01 W O
N 01w O O

2 -1 36
2.(15%)) ¥ A=%a b -3I, Wit 3HHIFEBIIFLBEAIEB * O H AB=0, KA.
4 -2 cy
a@o aelo
G.1
3. (154%) T4 4 JikE A=(a,,a,,a,,a,), ZbETFE4 AX = b [ ﬁa’%ﬁ‘? N k‘?
g3ﬂ goﬂ

Hrp k TR WM a, i Ha,, a,,a, Z&MHEERH? 42
4. (15%p) % A& 3B rBE, 348 Edla, Aa, Aa &t i, H A’a =3Ma - 2A% .
UE B A B B:(a, Aa, A“a)ﬂiﬁé.

5. (20 43) ¥ R®® 2 S B TAT n U B OG0 B R I R BT T R A A

'8@1 8, & U
e a alaa.al Ry ={Al RT AT =- A
je6a, a, ag b

(1) 73505 H VR W RSO — 4 3L O 5 SR g 7)),
(2) kK V1w —21 3k,



el 1 -ao
6.(20%)) #A=S2 a -2
§-a -1 1g

(D) K A FRAE RS R L ) B (2) 8 AT AT LURHBO f L.
7.(157)) W VUK F LR n gL, A e V _ERIZMEAR, UERT: A FE V4L
ANTFIHE R A R AR

8.(1545) BV =span(a, b) RLEK G R* (6 TR iy B 725 i, 3efy
a=(1,211),b=(-2001).

(1) RIEASANV" [ HbrUEEACHE;  (2) WEW: RIEAEIERARH A {fif5 Aa =b .

9.(204%) Bt 3L U f(X)=XTAX MRH 2, Hil &M A2 +2A=0.

(D) f(X)+1=0%&mfta=wkiim? Kfha?

(2) 2 KAEAFAZ PRI, 00 £ (X) +k( +3¢ ) 52



